CHM 1045 (8:00 am Lecture)

September 21, 2001

HOUR TEST 1

This exam conssts of 4 pages. Make sure you have one of each. Print your name at the top of
each pege now. A fifth page contains a periodic chart. Y ou may tear it off and use it asa scratch

sheet. Show your work on caculations, including unit conversions, and give answersin the
correct units and appropriate number of significant figures.

I'n problemsinvolving molecular and formula weights, you may use valuesrounded to the
nearest 0.1 amu.
If anything confuses you or is not clear, raise your hand and ask!
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Fe(OH).

CaCGO;
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magnesium nitrite

copper (1) sulfide
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Name
(please print)
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Silver has adensity of 10.5 g/cn?. What would be the volume of asilver bar weighing 4.45 kg?

Your tire pressure is 32 pounds per in®. What would this be in kg per cnt?
(Lpound=45369, 1lin=254cm)

Name the following compounds:

Write the formulas for the following:

Give the number of protons, neutrons, and ectronsin the following:

Nuclide
59Nji
801
6572

Protons

K>S0,

(N H 4)3m3

phosphorus trichloride

lithium perchlorate

Neutrons

Electrons
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(8 6. Give the aomic symboal, asin theillugtration, including Z, A, and q for atoms or ions containing the
following numbers of particles:
(@ 16p, 16n, 18e (@ 20p, 21n, 18e
A X q
Z
€5)] 7. Give the molecular formula and name for the following hydrocarbons.
Structural Formula Molecular Formula Name
S
H-C—C—-C—-C—-C—C—H
hod ol
PN
(6) 8. Following isthe structure of the natural compound caled asparagine. Give the name of the circled

organic functiona groups.

A / B A.
C
e .
¢
C

14 o Bdance the following chemica equations (reduce to the smallest whole number coefficients):
(a _ S0;® SO, + O
®  MgN,+ HCI® _ MgCh + _ NH,CI
© __ NGO + _ HO ® __ HNO;

(d) _ CHO, + o ® Co, + H0
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4 10. Cdculate the number of molesin 23.8 g of SO..

4 11. Cdculate the number of moleculesin 33.1 g of CH,.

(8 12. A compound containing only carbon, hydrogen and oxygen was shown by combustion analysisto
consist of 54.6% C and 9.1% H. What isits empirical formula?
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(15 13 Baance the following chemica equation:

HPO, + BasO, ® Bay(PO.), + H,S0,

25.1 g of HyPO, are mixed with 52.1 g of BaSO,, and the above reaction proceeds. Answer each of the
following questions in the blank provided, showing your work in the space under the question

(@ How many moles of HsPO, isthis?

(b) How many moles of BaSO, isthis?

(c) Whichisthe limiting reagent?

(d) How many g of Bag(PO,), will be produced?

(e How many g of the excess reagent will be left?



